6380 - alt - 7




3070b
1x 1x 3069b White

3680c02 Light Gray 971

Black 3665
Black ' @ Whitt  Whac??  White

S0 /

10x
\\\ 3024
White
1x
972 4081b X 2x
Light Gray White 4624c02 3068bp52
' White White
D 3, <
' 3005 :
\Qj White gy
= 3023
o [(© white
Light Gray ¢/ o
3x 3040
&% White
/ 9
1x
ab4lipa2 - ax 23x
Light Gray ogq 3004
White White

Light Gray






—
x.

971
Red

1x

) = [{= =N [{=]
@mx gﬂx ?u
N oo o N




4346
Yellow

Trans-Clear

1x
2348b
Trans-Clear

1x
3823
Trans-Clear

2x
4448p02
Trans-Clear

2x
4215ap01
Trans-Clear

2x
3024
Trans-Red

2x
3024
Trans-Yellow

4x
4073
Trans-Yellow

=

2x
3024
Trans-Dark Blue






3x

3X

2X

2
‘@’/




2X

1x

2x

2X

3|22




=

4
P




==l




(5)4




1x

x

3x

3x

[ |52~







1x




=

10@%




y N




2X

2X

12 o P g 5o









15

V

Ix 1x







R
,




A W




19




20

1x 2X










2X X

S S &

4x

23







25 @










28| o
















33|,




34




35




